
 

Instructions for use

Title Large-amplitude internal waves observed in the Kruzenshtern Strait of the Kuril Island Chain and possible water
transport and mixing

Author(s) Nakamura, Tomohiro; Kawasaki, Yasuhiro; Kono, Tokihiro; Awaji, Toshiyuki

Citation Continental Shelf Research, 30(6), 598-607
https://doi.org/10.1016/j.csr.2009.07.010

Issue Date 2010-04-01

Doc URL http://hdl.handle.net/2115/43090

Type article (author version)

File Information CSR30-6_598-607.pdf

Hokkaido University Collection of Scholarly and Academic Papers : HUSCAP

https://eprints.lib.hokudai.ac.jp/dspace/about.en.jsp


���������	
��
� 
������	 ����� �������
 
� ��� �������

������ ����
� �� ��� ���
	 ��	��
 ���
� ��
 ����
�	�

����� ��������� ��
 �
�
��

�������� ��	��
���� ��

���� ����
�	��� ��	����� ������ ��� ��
���
	� ������

� �����	���
	 ��
����� ������� ��
���
�� �� ��� ��� ����
�� !������� "�		����

#��$��
���� !�  ���� %&%�%'()� *� ��

� "�		���� �������+ ,�
�����
 ��
����� ��
���
��� ,�
�����
 ��
����� �-�����

�

����� %'.�%'%/� *� ��

� 0� ������� �� 1����� 2��+�-� ��� !������
� !����+ �� 2��+�-���+ !������ ���

3�-�������-� ��	�� #��$��
���� !�  ���� %%.�'&%(� *� ��

� 0� ������� �� 4�� ��
��
� 4���
��� !����+ �� !������� ����� #��$��
���� ������

&%&�'.%/� *� ��

��� �����	 �������+ ��$�� ��������

 ����
���������� ����+ ��5��-� �
��+ !�����
�

!�� �� �	���
	


���������
�� ������	 �������� ��	��
�� 6��	��
��7+�����8��	
���8��8� 9

(



��������

�������� 	����
�	 
� ��
�������� ��� ������� ���
���� ���
		 ��� 	��� �� ���

������	����� ������ ���� 
�	����� �
�� ��
�	 �� 
�� ��� �� �����
��� �����

��� 
�	������
�	 �������� �
������� �������� ����	 ���� ��� 	�� 	������� �����

��� ������ �
 �� �������  ��������� ��
 
� ���	� ����	 ��� 
�!�
�
 �
���"

����	 ���� ��� 	������ ��� ���� �
������� � ������� �
��� 	�  �	��� ����

� 	� ��#���� �
��
����� $�! ��	 �������� %� 
�� �����	� �	
����
	 

���

���������� 

�� ���� &' 
� ����� �	 �
�	�	���� ���� ���  �������
� 
� ��������

��� ����	� (�

 �����"
�		 

��
���	� ��� �������	 ��� �	��
���� �
 $
�

��

 ��� )
��� *���#� �
 ��� ��� 
� +��
�	� �� ��� ��
��������"
���
�


����� �� � 
��� 	���� 
� '�,-'�. 
 	��� ��� 
��� $
� ��	 ������ ��� ���


	������
�� �

�
���� ��	 	��
� �� �� 
�� �����	� ���� ��� �
������� 
� ���

������ ��
��� '�/ 
 	��� ������ �
 ��� ��
�� ��� ����  �������
�� %����� ��
"

�
��� �������
�	 �� �
������� ��
��������� ������������ ��
	� �		
������ ����

	
���"	���� ������	� 	�  �	� ��� 
��������� 
� �� 
�
�	 �����"
�		 ����	�
�"


���
�� �������� ��� �
���
���� ��0�	������	 ��� �	��
���� �
 �� +1�'�� 
�

	��2 ��� +1�'� - �'� 
� 	��2� ��	���������� 3����	� ��� ����� �
������� ��	

��
	� �
 ��� ������ 
���
�
 �� ��� ��
� 
� 
�	������
�� ��� ��"�
������� ��"

������ ����	 ��� 

�� �� 
�
�	 �����"
�		 ����	�
�
���
� �
��� ���� �����

�� 
���� ��
�	 
� ��� �����

/



� �����
���
��

��� !�� �� �	���
	 ��� ��� ����� ����:� ����� ��� ��������� ����
-� ��� 
�����


�� ��� �
��+ �
+��� ����� 6,�-8 (98 ;���� �5����-� <������ ���
� ��� <�
��
 �


���
������ �� ���
� ����+� ����
-� ��� ��� ��� 
�����
� ��� ��
=��
����� !�����

��� ��� 2


�+ !�����8 ���
 ����� �5����-� ��
 �� �� ������ ��+� �� ��� ���������

�� ����� ��

�
 ��� ����
+����� �� <��� <�
��
8 �� ��� !�� �� �	���
	� ������

���+��- ��� <���� ��������� �

������� ���� 
�� ���  ���
����� +��� �� ��� ���������

�� 
�+��� ����� ���� ����=��- ��� ����
�� �$�� ��� �������� 
��+�� ����� �
 ��++��

0��
� !��+� ;���� 6�8-8� ������� ()>?@ !�����<��� �� �+8 /%%?98 ���
 ����� �
 ���
���

���� ��� 

���
����- ����� �� ��� 
��� ���
��� <���

� �� ��
 +�� ��� ����
�� ���

�
 ���
������ �� <� ��� �� ��� ����� 
�
���
 �� ���
� ����� �� ��� ����� ����:�

������������ +���� 6�8-8� ��++��� ())(@ ��

��� ())>@ ����� ())'@ ;�����<� ���

;�	��

���� ())'@ ���� �� �+8� /%%?98

2�
���
 ��� ����� �5����-�� 
����- ����+ ��5��- �� ��� �
��+ !�����
 �
 �+
� ����


������ �� �A��� <��� ��� !�� �� �	���
	 ��� ��� ����� ����:� 6��	��
�� �� �+8�

/%%B@ /%%&98 ��� ����+ ��5��- ��� ��+� ����:�
 �����  �� �����
 ������+� �� ���

�
��+ !�����
� <
� �� �+
� ���
��
 �� 
 ���� 
�+� C
5 ���� ��� 

����� +���� ���� ���


�+���� +���� +����8 ��� 

<
�D
��� ����
 ��� �� ��� 
�+��� ����� ���� ��� !�����
 ��

��-���
 �� 
������ -��������� ������
�
 ��� ���
��� �� ��� 0��
� !��+� ;����8 2��� ��

���
� �A���
 ������� ��� $����+����� �� ��� !�� �� �	���
	8 ��� ��C
���� �� ���
�

 ����

�
 
 ����
 �$�� �+��
� �++ �� ��� ����� ����:� �
 ��� ����� 

  +��� ����

��� !�� �� �	���
	 ����
+���
 �� ��� ������������ +����8 �+
�� ��	��
�� �� �+8 

-�

?



-�
��� ���� ��� ��������+ ���

�����  ����

�
 ����
���� ����+� ����
-� ���
��++�

���  �� ��$�
 ��� ��
����� ��$����� +��-���

<� ��$�
 ���
�� �����-��� ����
 ���

��� ������ ��� �������� ����
+������ ��
 ����$�+�8 ,
������ ��

�� �� �+8 6/%%&9 

-�

-�
��� ���� ���� ��� ('8&�����  ����� ����+ ����+ ���+�� ����+ ��5��- �� ��� �
��+

!�����
 ��

�
 <��������+ $�������� �� ��� ����� ����:� ����
-� ��� �<�$�  ����

8

6����� ��
+� �+
� <� � $�������� ���� �  ����� �� �<�
� 
�5 �����
 �

������� ����

��� ���
����� �� ��
���+ ����
 ���� �D
���5�
8 !
�� � $��������� ����$��� ��
 ���

<���  ��� �
�� ���������� ����� ��� <�  ���+� <���

� �� 
��
+� <� ������������

<� ��� 
��
���+ $��������89

�
������+ ����+��- ��� ����������+ 
�
���
 ��$� 
���� ���� ��� ��
���+ ����
�

�
 ����++� ��� �� ����� ��$� ��� �<�+��� �� ���
�� $�-���

 ��5��- 6��	��
�� �� �+8�

/%%%�@ ��	��
�� ��� ������ /%%(@ /%%B98 ��� ��
���+ ����+ C�� �
 ���
�����<+�

�����
�:�� ���
�� ��� �
��+ !�����
� ���� � ��5��
� C�� 
 ��� �� �$�� / �
��

6�8-8� ����
�� �� �+8� ())>@ �
���� �� ��� �� ��++�� ��� ��-���� ()).@ ����+�	 ���

��+��	�$� ())'@ ��	��
�� �� �+8� /%%%<@ ��
���� �� �+8� /%%/98 ��� �����
�:������ �


�
� �� ��� �A����$� �� +�:������ �� �� �-�� ����++� ���  �� ��$�
 -�������� <� ���



<�������+ ��
���+ ����
� ���
�  ��
���� ��
 �<
��$�� <� ��<���$��� ��� ����
��

6/%%(9� �� �������� �� ��� �A��� �� �� �-�� ��� �����������8 ��� ��

+���- ��5��-

���
�
 ���� ��� <����� �� �� �-�� ��� ����
��
 �� ��� 
�� 

����� �+��- ��� �
��+

�
+��� ����� ��� �
  �����
+��+� �����
� �$�� 
�++
 �� <��	
 �� �������� �� ��� �����

��� ��5��
� $������+ ��A

�$��� ��� �5���� %8( ��
��8 �� �
������+ 
��
+�����


6��	��
�� �� �+8� /%%%�@ ��	��
�� ��� ������ /%%B9� ��� +���++� �������� ��5��-

�
 �

������� ���� ����++� -�������� E
�
����� +�� ��$�
F ������ ���� �������+ ����


B



�� ����+ ���D
����8 ���
 �
 <���

� ��� ��
���+ ����
 ��� 

<�������+ �� ��� �
��+


6
� ���� �������+ ����
 -�������� <� ���� ������ <� �������+ -��$��� ��$�
9 ���

<���

� 
�
����� +�� ��$�
 ��� ���� +�	�+� �� -��� <� 

 �� �
����� ���� �������+

����
8 3���-���� �������+ ��$�
 ��� ���� ������ ���� �� +��
��
 �5������- (%% ��

��

+���- �� ��$� <���	��-8

�<
��$�����
 �� ��� �
��+ !�����
 �+
� 

  ����� ��� ���
������ �� 
����- ��5��-8

0��
��� �� ��� ����
�� �����
 ���� �<
��$�� <������ ��5�� ����� �� ��� 
�����
 ���

����� �� ��� !�� �� �	���
	 �� ��� ����� ����:� 6����
�	� ��� ����� ())/@ 4+����


��$� ()).98 ����
�	� 6())&9 �<
��$�� ���  ��
���� �� � +��-� �
�<�� ��  �����


�� � $������+ ��� ����
�� 
������ ����
-� ��� ��
=��
����� !������ ����� ��� <�

� ������
������ �� ��5��-8 ���+�
�
 �� �������+ ������
 �+
� 

--�
��� ��� �� ���

����� �� ��� ����+ ��5��- 6;��- �� �+8� ())'@ �����	� �� �+8� /%%(@ �������� ��

�+8� /%%/98 ������+�� ��� ����+ ��A

�$��� �

������� ���� �
�<
+��� ��5��- ��
 �
�

������� ���
�� ��� 2


�+ !����� ���� �5���
�$� ����
���$������� ����
���0� ��

6��09 �<
��$�����
 6��� �� �+8� /%%>9 ��� ������ �
�<
+���� �����
��
��
�� ����



������
 6��-� ��� ��

��� /%%'@ ����� /%%'98 ��� �
������� ��A

�$��� �
 �� ����

�
-�� ��� ����� ��
 � 
��� ����� � ���+� ��� $������++� �$���-�� $�+
� ��
 � 6(%��

��
��98

��$�����+�

� �<
��$�����
 �� �������+ ��$�
 �� ��� �
��+ !�����
 ���� ��

 ����

$��� +������8 �
 ��� �
 �� ��� ������ ��+� ��� �5�� +�
 ��$� <���  
<+�
��� ��

������������+ ��
���+
G � �����-�� ��� 

�$�� �� ��� ��
=��
����� !����� �����


����� ���� $������+ ��
 +�������
 ���
� ����=����+ 
��+� �����
 ���
 �� � +�� ��$�

�5������ ���� ��� 
�++ �� ������ ��� 
�� 

����� 6��	��
�� �� �+8� /%%%�9� ���

.




���++��� ���-��� �� � 
�+����� ��$� ����� ���� ��� 2


�+ !����� 6��	��
�� ���

������ /%%B98 !
�� � +������ �
�<�� �� �<
��$�����
 �� �������+ ��$�
 �
 ��� �� ���

�<
���+�
 �� � <����� 
����
������- �� ��� +��	 <������ ����
 ��� ��� ����+ ��5��-

�� ��� �
��+ !�����
8

�� ���
 
�
��� ��  ��
��� �������+ ��$�
 �� �
��� ��  �
� �<
��$������+ ���� ��

��� ��
=��
����� !�����8 ��� ��$�
 ��� +�	�+� �� ����+ ���-��� ��� ��

 ��� �<
��$��

���� ���  ��$��� ���������+ 

  ��� ��� ��� ��

+�
 ��  ��$��

 
��
+�����
 �� ����+

��5��-8 ,
������ 
��� �������+ ��$�
 ���  �� ���� ��� 

����� ��� ��

� �����

����
 ���� ���
� �A��� ��
 ��� <��� ���
������ ���
�� ���
 ����8 ��� ���������

�� ���
  � �� �
 ��-���=�� �
 ��++��
8 � 

����� �� ��� �<
��$�����
 �
 ��
���<��

�� !������ /8 ��� �������+ ��$�
 ���� ��� 

����� ���  ��
����� �� !������ ?� ���

��������

 ��$����� ��� �������+ ��$� -��������� �� ��� �� ��
 ��� ��$�
��-����

�� !������ B8 ,���++�� ��� ��

+�
 ��� 

�����=�� �� !������ .8

� ��������
���

��� �<
��$�����
 ���� ����
���� ���
�� ��� ��
=��
����� !����� 6,�-8 (9 �
���-

�� �HI "�		��1��
 ��
�
� �� !� ���<�� ())>8 �� �<
��$����� +��� ��
 
�� �+��-

��� 
����� 6�8�8� ����

 ��� 
�++ �� ��� 
�����9� �
 
���� �� ,�-8 (<8 ��� ����
��

���

������
 �� ���
 +��� 6���

�
 �� ,�-8 (<9 ���� �� ����� ��
� ����
 �
���- ���

���� 

��- 35 ����<+� 2����������-�� �
 6J2�
98 ��� ��
����� <������ ����

J2� 
��� ��
 
�� �� �  ��5�����+� B 	� �� �� �
�� �������+ ��$�
 �� ��+���$�+�


��++ ��$�+��-��
8 "���=����+ �
����� $�+����� ��
 �+
� ���

��� ���� � 
�� <����

&



���

��� 0�  +�� �
����� ���:+�� 6�0��9 �
���- ��� J2� �<
��$�����
8 �+���
-�

��0 ���

������
 ����  �������� �� <��� ���
 �� ��� +��� 6
�+�� ����+�
 �� ,�-8

(<9� �� ���

 �� ��� J2� ��� �0�� ���

������
 ����8

��� �
������
 �� ��� ��
� J2� �<
��$�����
 ��� 
���� �� ,�-8 /� ����  ��������

����+ �+�$����� �� ��� �<
��$����� 
���8 �� ��� ��
� J2� �<
��$�����
� �� ��
+� 
��

��A�����  ��
�
 �� ����+ C�� �

������� ���� ��
���+ ����
� ����� ��	� � �����

������<
���� �� ��� �
����� :�+� ���
�� ��� �
��+ !�����
8 "���$��� ��� �� +��
��

�� ����+ �+�$����� �� ��� 
����� ��
 �+��
� ��� ���
�+ �����
� �� ��� ���� �� ���

�<
��$����� 6,�-8 /98 ,
������ 
�����
���+ ����
 ���� �������� ������ ���� ��
���+

����
� ����� 


�++� �������� 6,�-8 /98 �
 � ��

+�� +�-
 ( ��� ? �� �
��� � 
���+��

����+  ��
� �����
 �����- �� ��� ���� ���� ��� ����+ �+�$����� ������
�� �� C���

����
� ������
 �� ������
�� �� �<< ����
 �
���- +�-
 / ��� B8

,�-
�� ? 
���
 $������+ 
������
 �� ��� �<
��$��  �������+ ��� ����
��8 �+���
-�

 �������+ ��� ����
�� ���� �
 ��+�
+���� �


���- � ���
���� 
�+����� $�+
� 
����


�+����� ��
 ��� ���

��� ���� ��� J2�
� ��� �

������� �����
 ���� +�

 ���� %8%(

Æ� ��� ��� 
��++ ���
-� ��� ��� ��
�


��� �� ���
 
�
��8

��� :-
�� 
���
 � �� ���+ $������+ 
��
��
�� �� ��� 

<������ ����� ����:� ���

��� !�� �� �	���
	� �<
��$�� �� 

����G ����+�� ���  ��
���� �� ��� ���� 

��

���� ��5�� +���� �<�$� ��� 
��
���+ �������+���� ��� ��� ����
�� �����
� +����

<�+�� 6��++�� �����������+ +����9� ��� ��� +���+ ��� ����
�� ��5��
� +���� �� ���

���������� �� ��
 6��++�� ��
�������+ �����98 ��� �� ���+ ��A������ �� ��������




��
��
�� <������ ��� 

<������ ����:� 6��� ��-�� ���� 
���9 ��� ��� !�� �� �	���
	

6��� +��� ���� 
���9 �
 �+
� 
���� 

�� �
 ��� ��
 ����$� �� ��
 �� ��� �����������+

>



+���� 6
��++���� �� ��� ����� ����:�9 ��� ��� ����� ����:�F
 ������ ��
�������+

�����8 ���
� ����
��
 �� ��� <��	-��
��  �������+ ��� ����
�� :�+� ��� 
���+�� ��

���
� �<
��$��  ��$��

+� 6����
�	� ��� ����� ())B@ 4+���
��$� ()).@ ����
�	��

())&98

2������ ���
� ��� <�
��
� +��-� ��� ���+ $��������
 ���
�8 ��� �+�$�����
 ���

�� ��

���
 �� �
������
 ��� 
��� ���� ��� 
�� 

����� ��� <�+�� ��� ��
�������+

������ ����� ��� ����=����+ -������� ��  �������+ ��� ����
�� �
 ��+���$�+� 
��++8

�� ��� 

<

����� +����� �� 
���
 ���� ��� ��������

 
��
��
�� �
 <���- $�-���

+�

����
������ �� ��� 
�����8 �� ��� ��++����-� �� :�
� ���

 �� ��� ��
�
�<����
 ����

��� 

����� �� !������ ? ��� ��++ ���� <��	 �� ��� 

<

����� $��������
 �� !������

B8

 !��� ��� ��� �������

��� ������	
 �	��


I������+ 
������
 ��  �������+ ��� ����
�� ��� �
����� $�+����� ���� ��� 
�� 

�����

��� 
���� �� ,�-8 B� ��-����� ���� ��� +�������
 �� ��� ���

������
 6�����-+�


<�+�� ����  ���+98 ��� �
����� $�+����� �
 ����� �
�� ���� ��� �����
 �+��- ���

����

 ��� �<
��$����� +���8 ��
���$� �+��-�+��� $�+����� �
 �������� ��-������ 6��

��� ����:� 
��� ����

 ��� 
�++9 ���  �
���$� ����

�+��� $�+����� -��
 ���� ��� �����


��� �� ��� :-
�� �� ��� ��$��
� 
��� 6�� ��� �������
� �+��- ��� 
�++98 ��� :-
��

�+
� 
���
 ��� ����=����+ ��$��-���� �� �+��-�+��� $�+������ ��� $������+ ����-������ ��

����� -�$�
 $������+ $�+����� 
���� ��� ��-�� +�� �  ��5������� ���� ��� ��$��-����

'



�� ����

�+��� $�+����� �
 ��-+�-�<+�8

,��� �������+ ��$� �������
� �� 	��� ���� 
�+����� ��$�
 ���� ��� 
�� 

����� ��



�� ��� ����� ���� �� ��

���
� �5�� � ��� $��� ��-� $������+ ����
 6�
���$
	�

��� !�� ������
� ()')@ "�+����� ��� 1�+$�++�� /%%&@ � �+ �� �+8� /%%>9� ��� ����

����=����++�  �� �-����- �������+ ��$�
 ���� ��� ���  �� $������++�� �� ���� ���
�
�

�� $������+ ����
�  �� �-��� �� ��� ��������� �� ��� ����

����
-� $�+����� ��� ��$�

�������� 6�� 
 ����9 $������+ $�+����� �� ��� ����� 6�� ��� ����9 
��� �� ��� ���
-�

6�8-8� I+�
��	� �� �+8� /%%.98

!
�� 
��
��
��
 ��� �<
��$�� �� ,�-8 B ��� ��� �
�<���� ���� ( �� >� ���� �����



�����- ��� ��������� ��  �� �-�����8 0� ��

���
 (� ?� B ��� > ��$� 
��
��
��


���
�
���� ���� +�������  �� �-����- ��$�
� ������
 ��� �����
 ��� ���
�
���� ����

��-������  �� �-����- ��$�
8 0� ��

���
 / ��� & �5��<�� ���� �� ���+ 
��
��
��


���� ��� �����
8 0� ��

��� B ��
��<+�
 � 	��	������ ������ ���� � �� ��

���8

0� ��

��� ? 
���
 �� ��$� � ����� �� ��$�
 <����� ��� +�����- ���
-� ��������-

�� ��� �0�� $�+������ �+���
-� ��� ����� �
 ��� ��
�+$�� <� J2� �<
��$�����
8

!���+��+�� �� ��

��� . ��
+� <� �

������� ���� � +�����- ��$� ����� �� ����� ��

��� �<
��$�� �� ��

��� �� ?> 	�8 ���  �� �-����� ��������� �� �� ��

��� > �



������� ��<�-
�

 ���� ���  ��
��� ����8 ��� �
����� 
��
��
�� 

--�
�
 ����

���  ��	 �� ��� �� ��

��� �
 +������ �� ���
�� ?B 	� ��� �
 ��� ��
�+$�� <� J2�

�<
��$�����8 �� ���
 �
 ��� ��
�� �� ��

��� > �
  �� �-����- +�������8 ���  ��
����

�� �+��
� 
�������� �+�$�����
 �� <��� 
���
 �� �� ��

��� ( �
 � �
���

 ����
��8

2���

� 
�+����� ��$�
 �� �+�$����� �� ��� ��
�+� ���
� �� ���
 
��
������ ��� 
�� +�

�5 +������� �
 ���� ��� +��-� �� ��

��� �
 ��<����� �� ��� ��+���$�+� +��-��
��+�

)



�+�$�����8 ������� ����� �������� �
 ���� ���
 �
 �  ��� �� � ���+����� ��� ����


��������� ��$� �����8

�� 
 ��� �� ��� ��<�-
��� �
� �� ��� ��
�+
���� �� ��� J2� �<
��$�����
� ��� ���

+����� �� ���  ��
�
 �� �
������ ��
 +�������� �+��-�+��� $�+������ ��� �  ��5������

$������+ $�+����� 

--�
�
 ���� ���
� ����
��
 ��� ����=����++�  �� �-����- �������+

��$�
8 �� �
� ����$��� ��Æ�
+� �� ����	 ���
� ��$�
 
���� ��
�
�<����
 ����� ��$�



Æ�����+� 
���+�� 
�� �
 �� ��� ������:�� ��$�
 ��  ��$��

 +�-
 ��� ��� ��
�� �� ���

��5� +�-
8 ���� ��-�� <� ����
��������� �� ��-�� ��$� -��� �
�
��� ��� �<
��$�����


������8 ���
�++�� 

  �
��- ���� ���  ��
� 
 ��� �
 ���
�� ( � 
��� ��$�
 ��
+�

 �� �-��� �<�
� /% 	� �
���- ��� �<
��$����� ���� �����$�+ �� & ��
�
� 
� ���� ��
�

��$�
 ��++ +��$� ��� ���-� �� ��� �<
��$����� +��� <����� ��� ��5� �<
��$�����8

��� ��
�
�
��� �����

���

����- ���
� ����
��
� �� ��

��� & ��
 � 
�� � 
���+�� �� 	���� 
�+���� 
�+
����
�

���
-� ��� 
�� � �
  ���+� �
� �� +����� ����=����+ ����� �+����� �� ������- ���

:-
��8 �� ��������� �� �
 ���-���++� ��
�+$�� <� . �� ? J2� 
���
� ����� ��� �++�� �

D
�+�����$� ��� ���
�� ���� ����������+ ����+
8 ,�-
�� . 
���
 ��� 
�+���� 
�+
����




 �� �
�� �� � �+�
��
 �� ���  �������+ ��� ����
�� :�+� ���
�� �� ��

��� &8 ���


�+
����
 ��� ���� ��� ��� �������-��� I���
 6��I9 ��� �5������ ��I 
�+����


6���I@ �8-8� ��$���
 <� �
���$
	� ��� !�� ������
� ()')@ "�+����� ��� 1�+$�++��

/%%&@ � �+ �� �+8� /%%>9� ��� 1����� 
�+���� 61������ ()''@ ���� ��� ����

��

()))9� ��� ��� *��0 
�+���� 6*�
� �� ()>>@ �
<��� �� �+8� ()>'98 ���� ���� ���
�

��� ���	+� ���+����� ����+
 6
��++�� ����� ����+
9� �5�� � ��� ��� 1����� 
�+����

(%



6��� *��0 
�+����98

��� 
�+
����
 
���� ��� �<������ ��� � ��� +���� 
�
���� �� ����� ��� ����=����+

+��-�� 
��+� �� �++ 
�+����
 �� ���
 �� ��� ���
��� ��� ����	��

 �� ��� 
  �� ���

+���� +����
 6��� ��� ��� ��� ��� ��
 ����$�+�9 ��� 
�+���� �� +��
��8 ;��� 2�


��

��
D �  ��5������� �
 $�+�� 6�� � �� K ��9� �� ��� �� �A��� ��� 
�+���� 
�+
����


����
-� ��� ���
��� -��$��� ����+�������� �� K 6�� � ��9����8 ��� ���
��� -��$�

���� ����$��� ���
 ��� �A��� ��� +��-�� 
��+� �� ���
� 
�+����
� �
 ��������� �� � �+

�� �+8 6/%%&9 ��� ��� ��
� �� ��� ��I 
�+����8 6���
 �
 <���

� �
� ��

+�
 ����

��� �<������ ���� � ������- �� � :5��  ����� 
� ���� ����� �
 �� ���� �� ��	� ���

��� ���+ ����-� �� ��� 
�+���� 
 ��� ���� ����
��89 ,
������ � 
�+���� �� +��
��

�
 ���������� <� ��� �� �� �� ��� �� ��

��� �� � K % 	� �� ,�-8 .� ��� ��� ����+

�� �� 6�8�8 �� L ��9 �
 
�� �� <� �� �<
��$�� $�+
� 6� (>%% �98 ;� ���������� ���

��������-  �������� 6��9 <� ����-  �������� :����-� 

��- �� ��
 �� �� �
������

�� :$� J2� 
���
� ���
-� ��� �
�����
� ��� ��$� ��+���$�+� +���+� �A���
8

����� ���  �������� :����-� �� �<������ � D
�+�����$�+� 
���+�� 
�� � �
 ����

 ���� ���� �<
��$�� �
������
 ��� �++ �� ��� �<�$� 
�+���� 
�+
����
8 ��� �� ��
 ��

��� �
������ 6���� 
�+�� +���9 �-���� D
�+�����$�+� ���� ��� 
�+���� 
�+
����
 �� ���

J2� �<
��$����� 
���
� �+���
-� ��� 
�� � �� ��� �
������
 <������ ��� J2� 
���


��
+� <� �� �������� �� +����� ����� �+�����8 ��� *��0 
�+���� 6��
� ���9 ��
 �


�-��:����+� ��A����� 
�� � �
 ��� ���� ���� ��� ����� 
�+���� 
�+
����
� ������


��� ����� ����� 
�+���� 
�+
����
 -�$� $��� 
���+�� 
�� �
 ��� ���  �������� 
�� 

��

����� ���
-� ��� 1����� 
�+���� 6����	 
�+�� +���9 �
 
+�-��+� ����� ���� ��� ��I ���

���I 
�+����
 6��� ����
���-
�
��<+� ������ +���
98 �� 
��
+� <� ������ ����$���

((



���� ��<�-
��� ������
 �� ��� ������������� �� ���  �������� 6�� �� ��9 �
� �� ���

�<
���� �� 
�+����� ��� ����� ���
��� ��
���<
����
 ���� �� ��8 ,�� �5�� +�� ���


�� � �� ��� *��0 
�+���� ��A��
 �
����� ���� ��� 
��� 
�� ��  ��������
 �
 

��

6
���� ��
��
98 ��� +��	 �� ���
���  ��:+�
 ���H�� ��� �
�<�� �� J2�
  ��$��� 



���� ��	��- � D
��������$� ��� ���
��8

������
���-+�� ���
 �� ��

��� ��
 ��� ��5��
� ��
 +������� ���� ��� 

����� ���

�������
 ���� ����� ���+�
�� <� �� �
������ ��� ��� 
�� 

�����G ��� ��5��
�

��
 +������� ���
�
 ���
�� ��� > Æ� �
������� ����� �  ������
 ��� 
�� 

�����

���� ���� ��� �� ��

���� ������
 ��� 
��
���+ �������+��� �
 ���
�� ��� ?8. Æ�

�
������ +������ �<�
� �� � �� �� �� � B% � 6,�-8 B98 �� ������
�� ���	+� ���+�����

��$�
 ��� �����<+� �� 
� ������� ���� � ����=����+ 
��
��
�� �
������ ��� $������+

����
� ����� ��$� � ��5��
� $������+ ��
 +������� ���
�� ��� ����  �����+���

��� ��� :�
� ���� ��� ���� ��� 
��
���+ �������+��� ��� ��-� ����
8 ��� �<�$�

����
�� ��

 

--�
�
 
����- ���+�������� �� ��� ��$� �� ���� ��� ��$� �
 ���  ��

$��� ���� ��� 

�����8 �� �� �


�� ���� ��� +����� �
 ��� ��
� ��� ���� ��� ����

 �����+��� �5 �������� <� ��� ��$� +��
 ���� ��� 

������ ��� *��0 
�+���� �+���

 ��$���
 � �
�$� 6+��- ��
��
9 ���
� +��-�� 
��+� �
 ��� ���<+� �� ���� �� ���

�<
��$�� �
������
8 ��� ����� 
�+
����
  ������ �
�� 
��++�� +��-�� 
��+�
 6���


����98 ��� +��-�� 
��+� �� ���
 *��0 
�+���� 
�+
���� �
� ����$��� 
��++ 
������

���� ���� �<
��$��� �����  +�

�<+� 

--�
�
 ���� 
����- ���+�������� �+
� ��	�
 �

������<
����8

,
������ �� ��  +��� �� 
 
��� ����� ���
 ����
�� �
 
���+�� �� �������+ <�+

�
 ��

��� <����� �� ����������+ 
��+$�
� ����� ��� -�������� ����
-� ��� ����������� ��

(/



�������� �������+ ��$�
 ���� �� �-�� �� ��� ����� ��$� <��� 
��� �� �<
��$�����


6�+���	 ��� 1�
�� /%%?@ ������ �� �+8� /%%.9 ��� �� �
������+ �5 �������
 6I��

����-�������� ��� ,���-��� /%%&98 ���
� <�+

�
 ��� 	���� �� ���
�� ����
 ��� ��

����� ��
��� ���� ��� ��  ��$��� 
�-��:���� <
�
�
 �� �
�<
+��� 	������ ����-� ����

��� ������<
�� �� ��� ����+ ��5��-� 

--�
���- ���� �� ��

��� & ��
+� ��$� 
���+��

�A���
8

�+
�� �� ��

��� ? �<
��$�� �� ��� ����+� �  �
��� ����+  ��
� 6+�- ?9 ��
 � 
���+��

<�+

�+�	� ����
�� <
� ���� ��� �  �
���  �� �-����� ���������� 

--�
���- ���� 

��

<�+

�
 ��� ���D
���+� -�������� <� ����
8 �


���- ���� 

�� <�+

�
 ����
 ���

��� ����� ��������� ��
��� ��� ���� ��� <�+

�
 ��� -�������� �� ��� ����+ ���+�

6���� �  �
���  �� �-����- ���������
9� ��� $�+
������ C
5 �
 ��
-�+� �
������� ��

<� �� ��� ����� �� %8( !$ 6( !$ K (%� �� 
��9� 

��- ��� �
������� ���� ��������� ��

�� ��

��� & �� � (8. � (%� �� ��� �


���- ���� ��� +��-�� 
��+� �� ��� ����

�+���

��������� �
 ����+� ��� ����� �� ��� 
����� 6.%M(%% 	�9 �� ���� � 
���+�� 
�=� �� 
�+����

�
 -�������� �$�� ��
� �� ��� 
�++ �� ��� !�����8 ���
������- ���� ���
 $�+
������

C
5 ���
���� ����
-� ��� �� ?% � �� ��
� ��� �
������� ���
�� �
 
�-��:���� ���



����� ����� ����
 ��� ���� ��� ���� ���� �  ��$��

 �<
��$������+ �
������ �� (8&

!$ ��	��-  +��� �� ��� 
  �� &%% � �� ��
 6���

���� �� �+8� /%%(98 ��������- ��

����� �<
��$������ ��� ��
��
�+ �+��-�
����� $�+����� ��
 ������ $������++� 
������ ��

��� 
  �� +����� 
� ���� �� ��
+� ���+� � ����
 ��� �� �<�
� %8%' !$ �� ��� �� ?% �8

2���

� ��� C
5 �
� �� 

�� <�+

�
 ��	�
  +��� �� ��� 

����� +����� �� ��-�� ��$� �


�-��:���� �� ��� �� ��� 

  +� �� �
������
 �� ��� �
 ����� =��� ���
�� ��� 
�����

<� 
 ������- �
� ��� �
����������� ����� �� ��� 
������ ����� �
 �� �
�� �5 ����� ��

(?



<� 

  +��� <� ����+ ��5��- ���� 

<

����� 6,���+��� �� �+8� ())'@ ��	��
�� ���

������ /%%B@ ��
���	� �� �+8� /%%>98

��� ��

��
� �����
 �� ���	����

�� �
 �+
� ������
���- �� ���� ���� ��� ����

�+��� $�+����� �+
� $����
 �� ��� ��-���

����� ��� ����=����++�  �� �-����- ��$�
 ���  ��
���8 ��� $��������
 ��$� 
���+��

+��-�� 
��+�
 ��� 
�������
 ����� 
�-��:���� �� +��
��
 ��� ���� ���� ��� �+��-�

+��� $�+������ 

--�
���- ���  �

�<+� ��C
���� �� ��� 3����F
 ��������8

�� ����� �� ��� ����

�+��� $�+����� �
 ��

�� ��+� <� �� ���+������� �� ��� �<
���

$����� +��� ��+���$� �� � ��$� ���
-�� ��� ����

�+��� $�+����� 
��
+� ��$� ��� 
���

�� �  �
���  ��
�
 6�8�8� % �� ('%Æ ��A������
9 ��+���$� �� ���  ��
� �� ��� �+��-�

+��� $�+�����8 ���
 ��
+� <� ��� ��
� ��� �� ��

���
 /� B� ��� >8 ��$�����+�

� ���

����

�+��� $�+����� �� �� ��

��� & ��
 �
�������� ��� �����
 �<�
� ��� ������

�� ��� ���
-�� 

--�
���- ��� ��C
���� �� ��������� �+���
-� ��� 
��++��

 �� ���

����

�$�+����� $�������� 

--�
�
 ���� ���
 ��$� �
 �� ��� 
����++�� $��� ���	 �����

���� ��-��� 64���
���� ()'.9� ����� ��� �������� ���
��
 ����
$��
� $�+����� <
�

���
 ��� �A��� ��� ��$� 
��
��
��8 �� ���� �����+� ��� �A��� �� 3����F
 �������� ��



����� ��� �������+ ��$� �������
 �
 ��
�


�� �� ��� ��$��� <� 4���
��� �� �+8

6())'98

(B



" ����������

��� �	��� ��������

����$� ��� ���+ $��������
 �+
� ��	�  +��� <�+�� ��� 

����� +����� �
 
���� ��

,�-8 ?8 ;� :�
� ��
�


 �

������� ��������

 ��$����� ���� ��� ���� ������

��

 ����
��������� ��� ��� +���+ -��������� �� �������+ ��$�
 �� ��� ��++����-



<
������
8 ;���� ��$����� �
 
��� �
 ��� ��$����� ��  �������+ ��� ����
��

�����
�
 �� �����+��
 �� ,�-8 ?8 ,�-
�� &  ��
���
 
�+����� �
������
 �<
��$��

�
���- +�-
 (�B 6����  �� �-���
 ���� <+��	� <+
�� -���� �� ���9 �� ����� �� 
���



�� ��$�����
 ���� �+���+�8

��� ��$����� �� ��� �����������+ +���� �������- ���� ��� ����� ����:� 6���

��-�� ���� 
���9 �
 �+����
� 6,�-8 &�9 ��� ��� <� ��
�+� 
��� �+
� �� ,�-8 ? �


��� ��$����� �� ��+� ����� ���
�� (%% � �� ��8 � �+�
�� +��	 �+
� ��$��+
 ���

�
��++����� ��$����� �� ��� �� ��
 6,�-8 &<��9� �
 �++

������ <� �����
8 ���
�

����=����+ ��$�����
 ��� ���� $�
�<+� <���

� �� ��� 
�-��:���� ��A������ �� ������

��

 
��
��
��
 �� ��� ����� ����:� ��� ��� !�� �� �	���
	 �� ���
� �� ��
8 I������+

��$����� ������ ���� ����=����+ ��$����� �
 $�
�<+� <�+�� ��
�������+ ����� 6,�-8

&�9� ����� ��� ����=����+ -������� ��  �������+ ��� ����
�� �
 ��+���$�+� 
��++8

��� ����=����+ $�+����� �
 �
������� ���� ��� �<�$� ����� ��$�����
 �� <� %8/M

%8. � 
�� �� ��� �����������+ +���� ��� %8(.M%8. � 
�� �� ��� �� ��
8 ��� �
�����

�
 �+���
 �������� ���� ��� ����:� �� ��� !�� �� �	���
	 6+������� �� ��� :-
��9 ��

��� �����������+ +����� ������
 �� ��$��
�
 ��������� ��������- �� ��� ����+  ��
� ��

��� �� ��
� ���� ��� �$���-� C�� �������� �� ��� !�� �� �	���
	8 ���
� ��A������


(.



�� �
����� $�+����� ���� �� �� �������� <��� ���  ��
���� �� $������+ 
���� �� ���

�$���-�� $�+����� ��� ��� �������� ����+ C�� �� �� ��
8 !���+��+�� $������+ $�+�����

�
 �
������� �� <� / � (%�� M ? � (%�� � 
�� �� ��� �����������+ +���� ��� B �

(%�� M . � (%�� � 
�� �� ��� �� ��
8

���
� �
������
 �� ����=����+ $�+����� ��� <� ���:���� <� �0�� $�+������

�+���
-� ��� ��� ���
�� �
  �

�<+� ��+� ��� ��� �����������+ +���� �
� �� ���

+��������� �� ��� �0�� ����8 ��� �$���-�� �+��-�+��� �0�� $�+����� �� ��� �� ��

���-� �� /. �� (%% � �
 �+���
 �������� �� ��� !�� �� �	���
	 �� 
 ���
 �� %8%>� %8B?�

%8('� %8?? � 
�� �
���- +�-
 (�B� ��
 ����$�+�8 ��� ��������� ��� ��-���
�� �� ���

���� �0�� $�+����� �-��� D
�+�����$�+� ���� ��� �
������� �+��-�+��� $�+����� ��

��� �����������+ +����8 �+
�� ��� ��$����� �� ��� ��+� ����� ��������
 ��� �
�����

�
 
+�� �� ��� ���� �
������
 <������ +�-
 ( ��� / ��� <������ +�-
 ? ��� B� ������


�� �
 ��
� �� ��� �
������ <������ +�-
 / ��� ?� ����� �
 ��
-�+� ���
�
���� ���� ���

���� $�������� �� ��� ���� �0�� $�+�����8

��� ��-���
�� �� ��� �
������� ����=����+ $�+����� �
 
���+�� �� ���
� �<
��$�� <�

+������ �0�� ���

������
 �� ��� 
��� 
����� 6���

���� �� �+8� /%%(98 "���$���

��� ��������� �� ��� �����������+ +���� 6�� ��� ��������� �� ��� $������+ 
����9 �


�  �
���8 �
� �<
��$����� 
���
 ��� C�� ���� ��� ����:� �� ��� !�� �� �	���
	�

����� �
 ���
�
���� ����  �
� D
�+�����$� ��$�
��-�����
 <�
�� �� ��������

 ���+�
�


6�8-8� ������� ()>?98 ���
������- ���� ��� �<
��$����� <� ���

���� �� �+8 ��
 �+
�

����
���� �� 

���� 6���� ?( �
-

� �� ( !� ���<��� ()))9� ��� ��A������ ��

�
����� ��������� 

--�
�
 ���  ��
���� �� +��-� ����=����+ $��������
� 

�� �
 ���

��� �

������� ���� <������������+ ���� �
�����
 ���
��� <� ����
 6��	��
�� �� �+8�

(&



/%%%<9� �� 
�-��:���� ������
��
���+ $��������
 �� ��� �
����� :�+�8

��� �	�����	

 ��	�
����	����

,�-
�� ? �+
� 
���
 ��� +��-� �
�<�� ��  �����
 ��  �������+ ��� ����
�� �����+��
�

���� ��� �
�<�� ������
��- ���� ��� 
�++� ��� ��� ����$� ��������� ��� ��
�  ����

���� �� 

��  �����
8 ���
� ����
 

--�
� ��� ���
������ �� $�-���

 ��������



����
��������� �� ��� 
�����8

��  �����
+��� �� ��� ����� ��� �$���
 �� ����� � +��-� �����+� <���	
 ����


��++��  �����
8 �
 ��� ��+� �����������+ ����� ��$�
 +�������� ��� ��+� ���� ����

���++� �������� ���
�� (.?Æ BBF 3 ��� (/% � �� �� �� +�- ( 6,�-8 ?�9 �
 
� ������ ����

��� ��

�
 +������ ���
�� 6(.?Æ ?'F 3� (.% � �� ��9 ��� 6(.?Æ ?&F 3� (%% � �� ��9

�� +�- B 6,�-8 ?�9�  +�

�<+� �
� �� ��� ���<���� �A���
 �� $������+ ��
 +�������

��� $������+ 
����8 ��� 
 ���� 6��������9 ��$����� �� ��� ��+� ���� �
���- +�-


( ��� / 6/ ��� ?9 
���
 ���
�
���� ���� ��� ��$��-���� �� ��� �+��-�+��� $�+������

��� ��� �+��-�+��� ��$����� �
 �+
� ��
-�+� ���
�
���� ���� �0�� $�+������ ���
-�

��� $������+ 
���� ��
 ��� �<
��$�� ����- �� ��� +��������� �� ��� �0�� �<
��$��

���� �� ��8 �+
�� ��+���$�+� ��+� ����� +������ ���
�� (.?Æ ?'8.F 3 ��� ?%%MB.% �

�� ��
 �� +�- ( 
���
 �� <���	 ���� ����� 
��++��  �����
 �������� �� 6(.?Æ ?&F 3�

?%% � �� ��9� 6(.?Æ ?&F 3� ?'% � �� ��9� ��� 6(.?Æ B%F 3� ?.% � �� ��98

#��+�=��- ��� �<�$� ������- ��  �����
� �� ���� ��
-� �
������
 �� ��A

�$���

���� � ��-���-��� $��� ����G

�� K
(

/

�N

��
�

N6�LO	 9� N6�9

/O	



(>



����� N �
 ��� $������� �� ��� 
 ���� �� �����  ����+
 �� ��� ����=����+ �� $������+

���������� N6�9 ��� N6�LO�9 ��� ��� ������+ ��� ��� :��+ $�������� ��
 ����$�+�� ���

O	 �
 ��� ���� �
������ 6������ ()'/98 ���
  �������� �� ��
���
 ��� �  �����

��A

�$��� �
� �� ��� ��
������� �� �����  �����+� ��
���<
����
8 ;� �
������� ��

<� �


���- ���� ���  �����
 ��
���<�� �<�$� ��� � ������
������ �� �����  �����+�

��$�����8

��� ��+�
+���� $�+
�
 �� ����=����+ ��A

�$��� ��� ��

�
� (%� �� 
�� ��� � (%�

�� 
�� ��� ��� �����������+ +���� ��� �� ��� �� ��
� ��
 ����$�+�8 ��� ��+�
+����

$������+ ��A

�$��� �
 ��

�
� %8%( �� 
�� �� ��� �����������+ +����8 ���
� ��
-� �
���

����
 

--�
� ���� 
����- ����=����+ ��� $������+ ��5��- 6�� ����  ����
�+�� 
������-9

��
 ��	��-  +��� �
���- ��� �<
��$������ +�����- �� ����-���� ��������

 ����
����

������8 �� 
��
+� <� ������ ����$��� ���� ��� �
������
 ��+��� �� ��� ������<�+��� ��

���  �����
� ��� �� ������ ������ ���  �

�<�+��� ���� ��� ����-�
 ���� ��

�� <�

���

�+��� ��$������ ���� ��� �$��+�<+� ����8 ��$�����+�

� ��� ���
������ �� 

��


����- ��5��- �� 
������- �
 D
�+�����$�+� ���
�
���� ���� ��� ��

+� ��  ��$��

 ����+


��
+�����
 6��	��
�� ��� ������ /%%B9 ��� �
 � +�	�+� ��

� �� ���  ��
���� ��

���� 
�
�����  �����
8

��� ������	
 �	�� �����	���� ���� � � 
�



I������+ ��
 +������� �� �
������
 �
 
��� �$�� ��� 
�++ <�+�� .%% � �� �� �� ,�-8 ?

��� �
 
���� ��� ��� 
�+����� �
������ �� ,�-8 &�8 ���
� ��� 

--�
��$� �� �������+

��$� -��������� <� ��� C��  �

��- �$�� ��� 
�++8

��� ��� ���+ �$�+
���� �� ��� �
������
 
���� �� ,�-8 &� ��
 +��
 �+�$����� ��

('



��� ����
����� 
��� �� ��� 
�++G ����� ��� �
����� C��
 +������� �
���- +�-
 ( ���

/ �
 �
������� ���� ��� ��������

 ��$����� 6,�-8 &�9� ��� �
������ �<
��$�� ��

+�- / 6��� <+
� �
�$� �� ,�-8 &�9 �
 �+�$���� �� ��� +��� ���� 
��� �� ��� 
�++ �� 

6��
 +������� �
 ��������� <� ��� 
�+�� �����-+� �� ,�-8 &�98 !���+��+�� ��� ��-������

6+�������9 C�� �
���- +�-
 / ��� ? 6? ��� B9  ���
��� �� �+�$����� �� ��� ��-��

6+���9 ���� 
��� �� ��� 
�++ �� � �
 
���� <� ��� -���� 6���9 ��+���� �
������8 ���
�

����
��
 ��
��<+� ��� ��

+�
 �� �
������+ �5 �������
 �� 
�
����� +�� ��$�
 ������

���� �������+ ����
8

�������+ ��$�
 -�������� <� � ����+ C�� ��
 ������
�� ���D
���� �  ��5�����+�

-�$�� <� ��� 

� �� ��A������ �� 0�  +�� 
���� 6�� +�� ��$� ���D
����9 ��� ���

�����
 �����- ����+ ���D
����� ���� �
 ��� � 
� ����� � �
 ����=����+ ��$��
�<��

�� -�������� ��$�
 �� ��� �� �-�� ��� � ��� 
 ��� ��� ����+ C�� 
 ��� ��� ���D
�����

��
 ����$�+� 6��	��
�� �� �+8� /%%%�98 ��������-+�� ����++� -�������� �������+ ��$�


��� <� �+�

�:�� 

��- ��� ������ ����
� ���� �������+ ����
 �� ����+ ���D
���� 6����

����
 � (9� 
�
����� +�� ��$�
 6���� ����
 � (9� ��� ��$�
 �� ��� ������������

��-��� �������� �� ��5�� ����+�+�� ��$�
 6���� ����
 � (9� ����� �� �
 ����+ C��

�� +��
��8 ���
 ����� �
 �
������� �� <� �  ��5�����+� / �� ���  ��
��� ��
�� ��

����� ��� ����=����+ 
��+� ��� ��� C�� 
 ��� ��� �<�
� (% 	� ��� %8B � 
���

��
 ����$�+�� ��� 
�����
���+ ����
 ��� ��������8 ��� ��$�
 -�������� ���� ��� 
�++

�� ��� ��

 ����������=�� �
 ��5�� ����+�+�� ��$�
 <
� ��� �+�
� �� 
�
����� +��

��$�
8

���  �� �-����� ��� -����� �� 
�
����� +�� ��$�
 ��� ��� +� �A����� <� ���

$������ 6��	��
�� ��� ������ /%%(98 ��������-+�� ����� ��� ��
� +���
 ��� -��
 

()



$�+����� ��� ���  ���++�+8 ��� ��$�  ��
�  �� �-���
 
 
����� ��� ���������

������- �� ��
� +���
 
+�����- 
 
����� ���� ��� $������+� ������
 ��� ��$� ���

��-� �
 ��$����� ����
����� ��� ��

  �� �-���
 �+��
� $������++� 
 ����� ��$��-


+�-��+� ����
����� 6�8-8� ��$���
 <� 4�++� ()'/@ 2����
� ()). ��� 
����� +�� ��$�


��� ���� ��� �����+<�
�� ())?@ ��	��
�� ��� ������ /%%( ��� 
�
����� +�� ��$�
98

�
 � ��

+�� �+�$����� ��	�
  +��� ���������+� ����
����� �� ��� 
�++ �� �� � 
��+�

+���� �� ��8 ���
� ����
��
 �� 
�
����� +�� ��$�
 ��� ���
�
���� ���� ��� �<
��$��

�
������ �$�+
����8

��� �A��� �� ���
� �������+ +�� ��$�
 -�������� �$�� ��� 
�++ ��
+� ����� ���



����� +���� <� ��������- ��$� ���
8 ��� +�� ��$� -��������� <� ����+ C�� �$��

��� 
�++ �
 ��

 ��� ��������� �� ��� ���-�� �� ��� ����=����++�  �� �-����- �������+

��$�
 ���� ��� 
�� 

�����8

���� ���� ���+� 
�
����� +�� ��$�
 ���� �� <� -�������� ���� � 
�++ �� � ��$�


-�������� �$�� 
�++ 
+� �
 


�++� <����� �������+ ����
8 ���
 �
 <���

� �$�� 
�++


+� �
 6���� ��� 
�++ �� 9� ��� ����+ C�� �� +��
�� �
 
��++ 6+��-�9 ��� ��� ����=����+


��+� �� ��� �� �-�� �� �
 +��-� 6
��++9� 
� ���� ��� ����� ����
 <�����
 
��++

6+��-�98 ��� -��������� �� �������+ ����
 �
 ��

 �5 ����� �� ���
� �$�� ��� 
�++


+� �
@ ����$��� �� �
 ��Æ�
+� �� �5����� ����� 
�-��+ ���� ���  ��
��� ����8

# ������$ ��
 

�����
��

��� �� ����� J2� ��� �0�� �<
��$�����
 �� ��� ��
=��
����� !����� ��$��+�� ���

 ��
���� �� �������+ ��$�
 ���� ��� 
�� 

����� ��� ��� $������+ ������ �� �
������


/%



����� ��� ���
�
���� ���� ��� -��������� �� �������+ +�� ��$�
 ��$��- �� �� +��
��

�� �<�
� .% � �$�� ��� 
�++ �� �� ��� 
�����8

1�
� �� ��� �����

����� ��$�
 ��$� 

�� +��-� �� +��
�� ���� ���+�������� <��

����
 �� ������8 ��  �����
+��� ��� �<
��$����� ��
�� ���+����� �������+ ��$�


����� 
��� �� <� ���  �� ���� ��� 
�� 

����� ��� +�	�+� ����� ����� ��
��� �� ����

���+�
�� <� ��� �
������ ��� ��� 
�� 

����� �
 ����  �� �-���8 � ��
-� �
������ ��

��� $�+
�� C
5 ���
��� <� 

�� ��$�
 �
 � 6%8( !$9� ����� �
 � 
�-��:���� ���
��

���
������- ���� �� ��	�
  +��� �� ��� �� ?% � �� ��
8

���
������- ���� ���  �� �-����� ��������� �� ���
� ��$�
 �
 ��� ��� 
���� 6�8�8�

����� ���� ��$�
  �� �-����- �� ��� ����:� 
��� ��� ���
� �� ��� !�� �� �	���
	


���9� ��� ��$�
 ���  +�

�<+� �� ����+ ���-��8 "���$��� �� �
 ��Æ�
+� �� ���������

��� -��������� 
���
 ���� ���  ��
��� ����8 �+���
-� +�� ��$�
 -�������� �$�� ���


�++ �� ��� 
����� ��� ���  �

�<+� ���-��� ��$�
 -�������� �� ��� �������� 
�����
 ��

��� <��	 +������ ���
�� B'8/Æ�� (.B8>Æ3 6,�-8 (<9 ��
+� ���� ���� ��� �<
��$�����


���� �
 
��� �� � �
������+ 
��
+����� 6,�-8 ) �� ��	��
�� ��� ������ /%%B98

��� �
�����
 �
������� ���� ��������

 ��$�����
 �+���
 C���� ���� ���

����� ����:� �� ��� !�� �� �	���
	 �� ��� �����������+ +���� �� �� �$���-� 
 ��� ��

%8/M%8? � 
��� ������
 ��� �$���-� C�� ��
 ���	�� ��� ��� �
��++����� ��� �����

��
 
����-�� �� ��� �� ��
� ���� �� �� +��
�� �� ���
�� %8B � 
��8 ���  ��
����

�� ���� 
��++�
��+�  �����
 �� ���  �������+ ��� ����
�� :�+� ��� ����� ����$� ����

 ���+ $��������
 

--�
� ��� ���
������ �� $�-���

 ��������

 ����
���������8 ��

����� ��
-� �
������
 ���+� $������+ ��A

�$��� �� �6(%�� �� 
��9 �� ��� �����������+

+���� ��� ����=����+ ��A

�$����
 �� �6(%� �� 
��9 �� ��� �����������+ +���� ���

/(



�6(%� �� 
��9 �� ��� �� ��
8

��
�+�� �� 
��
+� <� ����� ���� ���  ��
��� �<
��$�����
 ���� ����
���� ����

��� ����+ �� +��
�� ��
 �+�
� �� ��� ���
�+ �����
� ��� 
������
���+ ����
 ����

��������8 �������+ ����
 ��� <� �������+ ��$�
 ��� 
������
���+ ����
 <
� ������ <�

��� ��
���+ ����
� ����� ��� 

<�������+ ���
�� ��� �
��+ !�����
8 ��� �������+�����

��
 ��
� �
 ��

 �5 ����� �� <� ��A����� ���� ���� �� ��� �<
��$����� ���� ��� ����

�� �� ���+ ���������
 �� ����� ��
���+ ����
 ��������8 "���$��� 
�
����� +�� ��$�


��� <� �������+ ��$�
 �$�� ���� -�������� <� 

<�������+ ��
���+ ����
8 ,
������ ���

<���$��� �� 
�
����� +�� ��$�
 �
 ������++�� <� ��� ����� ����
 ������ ���� <� ���

�����
 �����- ����+ ���D
���� ��� ��� 
��� 
�����:������� �� �-�� ��� ��� �������+

���D
����8 ��� ��� ��������� �5 ���� �� +��
� ����������++�� �� 
�� �������+ +�� ��$�


�� +��-�� �� +��
��
 ��� ���� �����
� ��������

 ����
��������� �� ����� ����
 ��

��� ���� ���� ��� ����+ C�� �
 
������ ��� ��
���+ ����
 �� 
��++�� ���D
���� ���

��������8 ���
 
��
+� <� �
 ����++� 
� ���� 
 ���- ����
8

!�����
�������


;� ����	 ��� ��� ��$�����
 ��� ����� $�+
�<+� �������
8 �
������+ ��+�
+�����


����  �������� �� ��� �����	���
	 ����������� !�
��� �� ���!8 ��� �
���� 6�8�89

��
  ���+� 

  ����� <� � 4����������� ��� ��
�- !������
�
 6���3�"�98

//



%���������

�����	�� �8� !8 ;�����<�� �8 �
��� ��� 18 ;�	��

���� /%%(8 ��� �	���
	�

����:� 
������� �5����-� �� ��� $��� ���� �� $������+  ��:+�
 �� ��������<��

���
�� ��� 2


�+F !�����8 �������� ���� ������ ��� ?)>(�?)>B8

� �+ *8� �8 �8 �
���$
	�� �8 �8 !�� ������
� ��� *8 ,8 ������ /%%&8 �������+


�+����
 �� ��� �����8 ����� ���� ��������� ����� ����� ����� ���� �!!" 

!#� ).  8

� �+ *8� �8 �8 �
���$
	�� �8 �8 !�� ������
� ��� *8 ,8 ������ /%%>8 �������+


�+����
 �� ��� ����� ��� ����� �A��� �� 
��������� 
�
��8 $� %������ &���

%'�� (�( )�*� &).�>//8

������ �8� ()'/8 ;���� ��5��- �� � ����+ �
����� ��� ��� �A��� �� �
�<
+���� ��

����+ �5����-� ����
-� � 
�����8 $� +���� ���������� (�� .%(�.(B8

2����
� �8 48� ()).8 ���������
� ,-���� 
� &����
.�� /���� ���<���-� #��$��
���

���

� B)'  8

������� 48 !8� 18 �8 4��--� ��� �8��8 ����� /%%.8 �������+ ��$�
� 
�+������+�	�

��$�
� ��� ��5��- �� ��� 1������� 2�� 
��+�8 
���
������ &���0 ����� �1�

(B))�(./%8

����� ;8 ��� �8 ����

�� ()))8 ,
++� ���+����� �������+ ��$�
 �� � ����C
��


�
���8 $� /��
� 2����� 34"� (�?&8

4�++� �8 38� ()'/8 %�'������� ����� 5���'
��� �������� ���

� !�� 0��-�� &&/  8

/?



4+���
��$� !8 I8� ()).8 ,����
 �� ��� �
��+ �
+��� ��-���8 ����������� 3�-+�
�

����
+������ 3#� B./�B.)8

4���
���� �8� ()'.8 3$�+
���� �D
�����
 ��� ���	+� ���+������ +��- �������+ ��$�


�� � �������- C
��8 &���� %���� 2����� 63� (�??8

4���
���� �8"8*8� �8�8 �
���$
	�� I8�8 !������ ��� �8�8 !�� ������
� ())'8 ���-

���+����� 

����� ��� �������+ -��$��� ��$�
 �� � �������- �����8 &��7� ��� 

������ (4� B� /')M??'8

,���+���� "8*8� 2���	�$� �8!8� ;������� ,8� ���+��� �8� ;��-� �8!8� �
��
�$� 48�8�

())'8 ;��3 
������ �(; �� ��� !�� �� �	���
	 � (8 ������-�� ��� ����

��
��� ����8 $� �������� ����� (!3� (.�&(?�(.�&/?8

"�+������ �8 �8 ��� ;8 �8 1�+$�++�� /%%&8 ���- ���+����� �������+ ��$�
8 %����

��7� /��
� 2����� 3�� ?).�B/.8

����� 18� �8 �8 ��
����� ��� 18 ;�	��

���� /%%?8 0�
���<
���� ��� ���������

�� �	���
	 !�� ������������ ;����G �� ���+�
�
 �� �
� ����+ �+�����+�-���+

����8 $� �������� ����� (!�� ?/.'� ���G(%8(%/)H/%%/*�%%(.)%8

����� !8� /%%'8 �<
��$�����
 �� �
����� ��� �
�<
+���� ������ ��� #�
 !�����8

��
�� 2������� 1!� >>�'B 6�� *� ���
�98

*�
� �� �8 �8� ()>>8 !�+����� ��$�
 �� � :���� �� �� C
��8 $� +���� % 2���� �����

(!� �//.��//>8

���

����� �8� �8 ��

��� ��� �8 ����
�	�� /%%(8 0����� �
����� ���

������


�� ��
=��
������ !����� �� 

����8 �������� ���� ������ ��� ?()�?//8

/B



����
�	�� �8 ��� �8 ����� ())/8 2����+���� ����� �5����-� �� ��� �
��+ 2�
��

��� ��� �������
���� ����:� �� 

����8 &�� &8�� "�� B(�.B 6�� *� ���
� ����

3�-+�
� �<
����� ��� :-
�� �� ����
98

����
�	�� �8 ��� �8 ����� ())B8 0�
���<
���� ��� ����
 ��� �� !
<������ ;����


���
�� ��� ����+� �� �
��+ �
+���
8 &�� &8�� 6!� >(�'B 6�� *� ���
� ����

3�-+�
� �<
����� ��� :-
�� �� ����
98

����
�	�� �8� ())&8 ��� ���-�� �� ��� ����� ����:� ������������ ;���� P ���� ���

�<
��$�����
 �� ��� �	���
	 !�� P8 ��
�� 2���� ��� .B.�../ 6�� *� ���
�98

������� �8� ()>? �� ������-�� ��� 
�
�� �� ��� �	���
	 !�� P  �����
+��+� ��

��-��� �� ��+� �����
8 9�����
� �0 ��� /�� &��� /
����
�� �������� ��:��������

4� B.�>>8

�+���	� *8 18 ��� *8 �8 1�
�� /%%?8 �������+ 
�+����� ��$�
 �� �+�$����� ��$����

��- �� � 
���+��- 
��+�8 �������� ���� ������ 3!� /%B.� ���G(%8(%/)H/%%?4�%(>>%&8

����� �8� ())' ,�������� �� ��� 
�+����� �����
� �� ��� 1�5�� ;���� ��-���

<������ ��� ���
��� ��� �
��
��� ,����
8 5��� &�� ���� +��� (� #1� /%?.�

/%.>8

����+�	� Q8� ��� �8 ��+��	�$� ())' ����
 �� ��� !�� �� �	���
	8 $� +����

���������� ��� (?')�(B%)8

�
<���� �8� 08 �8 !8 ��� ��� �8 08 0�<<
� ()>'8 ;��	+�����+����� +��- �������+

��$�
 �� � 
�����:�� C
�� �� :���� �� ��8 $� ����������� (�� (.>�(&.8

/.



����� ,8� ��� "8 �����+<�
�� ())?8 �� �-�� ��� ��$�
 -�������� <� � ����
����

����8 $� %�'��� &�
�� 1!� /&%>�/&/B8

1��

����� �8� �8 ��	���=���� ��� 18 ���� /%%%8 ����� ���� ����+
 ��$�+�

� �� <� �

���+����- ���3JH��!3�0�� �+������� ���� ���� ������������

��+ ����+G � -+�<�+ ����+ ��� ��-����+ ����+ ���
�� *� ��8 $� ����������

1"� .&>�.'(8

1������ 18� ()''8 ���- �������+ ��$�
 �� +��-� �� +��
��8 �� ;���
���� �����

��7��< �=�%2 &�'��< ��8�� (4�6� ��
8 �8 "���	���� "8 1��
�� ! ���-���

I��+�-� 2��+���   8 ?))�B%&8

��	��
��� �8� �8 ������ �8 "�������� �8 �	������ �8 ��	�=���� �8 ����� �8

����
�	�� ��� 18 ,
	�
���� /%%%�8 ��� -��������� �� +��-���� +��
�� 
��


����� +�� ��$�
 <� 

<�������+ �� ����+ C��G �  �

�<+� $������+ ��5��- �����

���
� �� ��� �
��+ !�����
8 $� +���� ���������� 3!� (&%(�(&/(8

��	��
��� �8� �8 ������ �8 "�������� �8 �	������ ��� �8 ��	�=���� /%%%<8

����+ �5����-� ����
-� ��� �
��+ !�����
8 $� +���� ���������� 3!� (&//�(&BB8

��	��
��� �8 ��� �8 ������ /%%(8 � -����� �������
� ��� �� �-�� ��� �������+

��$�
 -�������� <� �� �
��++����� C��8 $� +���� ���������� 3(� /.((�/./B8

��	��
��� �8 ��� �8 ������ /%%B8 ����++� ���
��� ��� ����+ ��5��- �� ��� �
��+

!�����
 ��� ��
 ��+� �� ����� ����
��������� ��� ����
 ���G � �����������
����+

��������
����� ����+ �5 �������8 $� �������� ����� (!4� �%)!%>� ���G(%8(%/)H/%%?*�%%('.%8

/&



��	��
��� �8� �8 ������� �8 �
��	���� ��� �8 ������ /%%B8 ����+ ��5��- �� ���

�
��+ !�����
 ��� ��
 �� ��� �� $����+����� �� ��� ����� ����:� �����8 $�

���������� "!� B(( � B/?8

��	��
�� �8� �8 ������� �8 �
��	���� ��� �8 ������ /%%&8 3A���
 �� ����+ ��5��-

�� ��� �
��+ !�����
 �� ��� ����� ����:� $����+�����G ���

����� �� ������

������� +����
 ��$��+�� ���� �
������+ �5 �������
8 $� �������� ����� (((�

�%B%%?� ���G(%8(%/)H/%%.*�%%?(B/8

��
���	�� *8� ���� �8� !����� "8� ��	��

	�� �8� ��	���� !8� ��
���
��� �8� !
=
	��

�8� �
��� �8� ��	�<���
��� !8� �

�
��� 08� 1��

����� "8� *���
��� ;8

�8� �

��� �8� /%%>8 ���� �� 
� ���� ��� ��
���� 

<������ ����:�� �� �������

�� ���� �5 ��� ���� ��� !�� �� �	���
	8 $� �������� ����� ((�� �(%%(/�

���G(%8(%/)H/%%&*�%%B%..8

��
����� �8 �8� 18 ;�	��

���� �8 ,
	������� ��� 48 1�=
��� /%%/8 �����

�����

����
+����� ��� ����+ �
�����
 �� ��� �	���
	 !�� �<
��$�� ���� ��� 
���++����

����	�� �������
8 $� �������� ����� (!6 G ���8 ��8 ?().8

���� �8� �8 �8 ��
����� �8 ����� 18 ����� �8 ���

����� �8 �8 I�+	�$� ���

18 ;�	��

���� /%%>8 ;���� ��

 �5����-� ��� ��� ����+ ��5��- �� 2


�+

!����� ��$��+�� <� ����� ��

  �� �����
 $� ���������� "3� /'(�/)(8

�
���$
	�� �8 �8 ��� �8 �8 !�� ������
� ()')8 0� �������+ 
�+����
 �5�
� �� ���

�����R ��7� ��������� �6� /)?�?(%8

��<���$���� �8 28 ��� �8 38 ����
��� /%%(8 3$������ �� ��
���+ 
��+� ��$�
 ��

/>




���++��������	�� ������� �����������
 �A ��� �
��+ �
+���8 $� +���� ����������

3(� /&.%�/&&'8

!�����<���� �8 �8� �8 08 ��++��� 08 �8 �
����	� /%%?8 0����� �<
��$�����
 �� �����

����:� $����+�����G 2���� ��������� �� ��� �	���
	 !��8 &�
����� 3!�� ()./�

()..8

��++��� �8 08� ())(8 �� �	���
	 !�� ����� �����+�G �� +�������
 ��� $����+�����

�� ��� ����� ����:�8 5��� &�� ����� 3�� 
(>(�()%8

��++��� �8 08 ��� �8 ��-���� ()).8 ��� �8����8 &�� ��� �����
� ���
��8 ���3!

!������:� �� ��� ��8 /� !������ 28 �8� ������8� //>  8

����
��� �8 38� �8 "8 ��2+���� ��� �8 28 ��<���$���� ())>8 ������� ���

�� �� �


���++��������	�� �������G ����� ����:� $����<�+��� ��+������� <� � 
��-+� �������

����������8 $� ���������� 13� '(�'>8

I�����-��������� !8 �8 ��� �8 28 ,���-��� /%%&8 �
������+ 
��
+�����
 �� ���

����������� �� �������+ ��$�
 ���� � 
��+� <���	8 +��� /��
��� (�� %>&&%?8

I+�
��	�� I8� �8 !��
���
	� ��� �8 "
����� /%%.8 9�����
�
� �
���� �������
���

'����
�� ��� �:���7��
���� �7
������ ���<���-� #��$��
��� ���

� ���<���-�8

;�����<�� �8� ��� 18 ;�	��

���� ())'8 ,�������� �� /&8' �� ����� �� ��� �
��+

2�
�� �� ��� !�� �� �	���
	 �
 �  �

�<+� ���-�� �� ����� ����:� ������������

;����8 $� �������� ����� (!3� /'B)�/'&.8

;��-� �8 !8� �8 *8 1������ "8 *8 ,���+���� ,8 �8 ;������� ��� �8 !8 2���	�$�

/'



())'8 ;��3 +��� �(; �� ��� !�� �� �	���
	 /8 �,�
 ��� ��� ���������

���� �� ������������ �����8 $� �������� ����� (!3� (.�&/.�(.�&B/8

��-�� 18 ��� �8 ��

��� /%%'8 �
�<
+���� �<
��$����� �� �
��+ !�����
 

��- ���
���

��$��
���
8 ��
�� 2���� 1!� '.�)/ 6�� *� ���
�98

��������� 18� !8 ;�����<�� !8 �

��-��� ��� 18 ;�	��

���� /%%/8 3A���
 �� 
��

��� ��������� ��� ��� ����+ ��5��- �� ��� �	���
	 !�� ������������ ;����

�+���:�� ���� �5�-�� �
��� �
8 5��� &�� ���� �� #4� ((&.�((>B8

��

��� �8� ())>8 ��� ���-�� �� ��� ����� ����:� ������������ �����8 $� ��������

����� (!�� ')?�)(%8

��

��� �8� !8 �
��
��� ��� "8 ����<�� /%%&8 ��

�<+� �5 +������� +��	��- ('8&�����

 ����� ����+ ����+ ���+� ���� <��������+ $��������
 �� ����� ��� �+����� �� ���

����� ����:�8 �������� ���� ������ 33� �%'&%&� ���G(%8(%/)H/%%.4�%/./?>8

/)



  
 

 

 

  
 

 

,�-
�� (G �<
��$����� 
���
8 6�9 �������� �� ��� ��
=��
����� !����� ��� ��� �
��+

�
+��� �����8 6<9 �<
��$����� 
���
 ��� �� �-�� ��8 ���

�
 ��� 
�+�� ����+�
 �����

���� ��� 
���
 �� J2� ��� ��0 ���

������
� ��
 ����$�+�8

?%



leg 1 leg 2 leg 4leg 3

(a)

(b)

(c)

Time (month)

Time (day)

Time (hour)

T
id

a
l 
h

e
ig

h
t 
(c

m
)

T
id

a
l 
h

e
ig

h
t 
(c

m
)

T
id

a
l 
h

e
ig

h
t 

(c
m

)

,�-
�� /G ��� ���� �
������ �� ��� �<
��$����� ��� ����+ ���-�� �
���- 6�9 ())>�

6<9 !� ���<�� ())>� ��� �� 6�9 ('M() !� ���<�� ())>8 !����� ����
 �� ��� <�����

 ���+ 
��� ��� �<
��$����� �
������8 ����+ ���-�� �
 ��+�
+���� <�
�� �� 1��

����

�� �+8 6/%%%9 �� ��� +������� �� ��� 
�++ �� ��� �<
��$����� +���8

?(



,�-
�� ?G I������+ 
������
 ��  �������+ ��� ����
�� ��� ��� <����� �� �-�� ��

�+��- ��� �<
��$����� +���8 �����
� �����$�+
 ��� %8. Æ� ��� � ?Æ� ��� (Æ� ��� �

?Æ�8 ��� ����� ����:� ����� 6��� !�� �� �	���
	9 �
 �� ��� ��-�� 6+���9 ���� 
���8

?/



 
   
   
  

,�-
�� BG I������+ 
������
 �� 6�9  �������+ ��� ����
��� 6<9 ��$��-���� �� �+��-�+���

$�+������ 6�9 �+��-�+��� $�+������ ��� 6�9 ���

�+��� $�+����� �<
��$�� �� +�-
 / �� B ����

+��� �� ��-��8 �����-+�
 <�+�� ����  ���+ �������� ��� +�������
 �� ���

������
8

??



,�-
�� .G ��� ���
�� �� ��� �<
��$�� �
������ �� ��

��� & �� ,�-8 B ��� 
�+
�

����
 �� 1����� 
�+���� 6����	 
�+�� +���9� ��I ��� ���I 
�+����
 6������ +���9� ���

*��0 
�+���� 6
���� ��
��� +���9� 

��-  �������� $�+
�
 
�+����� 
� �
 �� :� ���

������ ����� 
�+���� 
�+
����
 �� ��� 
�� � �� ��� �
������
 6�� K /B% � ����� ��

�����
 ���
 �� ��� 
  �� +���� ����	��

 �� � ����+���� C
�� 
�
���98 ��� ��I ���

���I 
�+���� 
�+
����
 ��� ����
���-
�
��<+� �� ���
 :-
��8 �+
� 
���� ��� � *��0


�+���� 6��
� ���9 ����� �
 :���� �� ��� �
������ 
�� � 6�� K &% �9 ��� � *��0


�+���� 6+��- ��
�9 ����� �
 �<������ <� �


���- ���� ���  �����+��� �5 ��������

<� ��� ��$� +��
 �+�
� �� ��� 
�� 

����� 6�� K (. �98

?B



,�-
�� &G �
������
 
�+����� �� 
��� ��� ��$�����
 �� ����� ��

�
8 2+��	� <+
��

-���� ��� ��� �����
�
 �� ��
��� �
������
 �<
��$�� �� +�-
 ( �� B� ��
 ����$�+�8 ���


�+�� �����-+� <�+�� ���  ���+ 6�9 ��������
 ��� +������� �� ��� 
�++ �� 8

?.


